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(Lo ) |- esg@iecip
ECONOMICS PAPER-I ﬂﬁ 24 c.-?lr
TIME ALLOWED: 230 Hours SUBJECTIVE ¥l 230 = o
MAXIMUM MARKS: 80 | | 80 = A

NOTE: - Write same question number _.q..E-,;:q_ﬂH.,JlrJ/ﬁg{ &JJ/:%!Z;:MUIJ’LGJ{Q@E -y

and Its part number on answer book, as given in the question paper.

SECTION- Jile

2, Attempt any eight parts. 16=2x8 é;fwih’ﬁ-i? '.#'Tr-df -ZJJ d'!“
(il Whatis meant by Knowledge? Tl u‘ff-fh (1)
(i)  Whrite four aspects of Adam Smith's -L.[-{},-;-'f’f;-ﬂ'k& --é'ftfu:r?b*wukpfﬁ‘ rel (i)
definition of Economics
(i}  Distinguish between Micro and Macro Economics. UG SN Sz i)
{iv) Whatis meant by Economiz Wants? ?-;-:Lr'k(-r-d-f'-:hrf'# (iv)
(v)  Whnatis the difference between Value and Price? fe VRS nLd  (v)
(vi)  Write down the meaning of Marginal Utility. -qﬁ?"ﬂiﬂfﬁﬂ'ﬁ' (vi)
(vii) Wnatis the difference between Utility and Usefulness? e DAV G aedbustaél (vii)
(viii) Whnatis meant by Increasing Function? “c'--'Fr‘lr(:'-Jw - (wvili)
(ix)  Define Income Elasticity of Demand. _4J4,ﬂu-€;.~ ';}v-’-‘ (1)
(x)  What is meant by Derived Demand? el il iX)
(xiy Describe the difference between Demand and Desire, L AGAR S Bl (X))
(xii)  What is meant by "Fall in Demand"? S sl “ LR (xii)
3. Attempt any eight parts. 16=2x8 il § 340w
i  Define Stock A Ahgs )
(i) Whatis meant by Short Period Supply? sty -::A*deﬁ;ﬂf fii)
(i)  State Reserve Price AN EF S i)
(iv) Whatis meant by More Elastic Supply? ?-:;J!x'y"’::e##'ﬁgvki (iv)
(v)  Make diagram: When supply falls and {Qﬁ;i,n,ﬁuﬁ;.-) Ligs:c.:.ﬁgsl’gﬁfr:[‘;;_ﬁ :F__.E:sgﬁ (v)

demand nises (equal change in bath).

(vi)  What is meant by Land? Ceslpa ot (vi)
(vii) Define Mobilily of Labour. -;,,_ff..é-',z"u dgi;::n?u:.-'»*' (Vi)
(viil) What is meant by Organization? ?+:V§2f§}* (Vi)
(i)  Define Joint Stock Company. - :-I:-i’ﬂﬂu{bw;-_,ff ,?"& t(x)
(x}  What are Internal Economies? el ey Fius! (%)
(xi)  What is meant by Small Scale Production? e itfe Ak (xi)
(xi) Define Law of Increasing Returns. U Aw S )
(&t Jn)
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(ix)
(x)

(xi)
(i)

(iii)

(2)

4. Attempt any nine parts. 18=2x9 gy Sy 480
(i)
(i)
(i)

What is meant by Short Run Cost of Production? ‘-'{'_JL/‘::’J:- J’j;é,;_jjwﬁ ui:g—‘/ (1)
Explain the Marginal Cost. _J_/,.:,:&;J_bwﬁ (if)
Who determines the Price Under Monopoly? = h’x‘[-).-"u"’.“ Ko 2 Solsade! (i)
What are the conditions of Equilibrium of a ot B AL (}Ja‘iéuﬂf (iv)

Firm under Perfect Competition?

What is meant by Average Revenug? ?{_:ykfadr‘:kxsf (v}
What i the trend of fe. el B P S e :,_,F‘Lmrig-}y%f;_éﬁa_,“f (vi)
Average Revenue, Marginal Revenue and Total Revenue Curves under Perfect Competiticn?

Write the significance of Market. - fﬂbﬁ'(ﬁ(di“ {vii)
Write the characteristics of day to cay Market. oo Lf___r:‘ry Uiy (vill)
What is meant by Gross Rent? et gblr (X
Describe Ricardo's theory of Rent. _qfdguﬁf ,!";EELQJ (%)
What is meant by Real Wages? fe il e =? i3 ()
Explain the four functions of Trade Unicn. -u:.’ak:uﬁ'}skﬁb'ﬁ Las (i)
Explain the Speculative Demand for Money. -JHIML&:JJ&J@J.Z-@LJ:/:’@? {xiii}

SECTION-I (1

NOTE: - Attempt any three questions. 30=10x3 #e;é}i..-.,ym&.-.uwf;.ﬂf -

5.

"Economics is a Science of Material Welfare" Discuss. -é&i > ﬁf.rkrblﬁd;tal,?b» G
. e ; o e B A s il 'TF:‘?HIL,PW:-'E‘ 5
Explain the Law of Diminishing Marginal Utility _,é‘.'.["b'!‘:"..u’u.. gl (Tl s "\

with the help of schedule and diagram.

i . £ i -y o
Describe factors Influencing the Productivity of Land. AL Wi Selbslets 7
Explain the Law of Variable Proportions St Bl (e BT 8

with the help of schedule and diagram.

Define Theory of Marginal Productivity. S ML % -éu"f'dj LFJ'!'%F&;'_/E' -9

Also describa its assumptions.
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TIME ALLOWED: 30 Minutes OBJECTIVE 53/ ax 30 = &k
MAXIMUM MARKS: 20 20= 4

Ao o | S xI:L#JWLHLP‘Hw;Lﬁu:}r:é.’:&-:i‘_bc':dh-‘j{téEﬂ!.i.' -gj‘iﬂ{_) Dl CBA ui&;fﬁrkﬁg_ﬁr‘ﬁ e
U Kbl AN e §i Joi Bubbles B il Bem S S SN | LS mmlie Ll -
Nata. You have four choices for each objective type guestionas A, B, C and D. --LE.I’HLP'. -J:-Ia- Ul.r".;,g{.;"r'
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark In that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) The founder of Classical Scheol of Thought was:- oE e ()
(A) Marshal ,_,-I%’l. (B) Adam Smith #4! (3) Robbins 2. (D] Keynas )u;
(2} The topic of Macro Economics is;- (A} Consumers behaviour ilew -r-f;r“:‘..f IELL-fL#\_F {2)
{B) Price theory ....-’..;ﬂf {C) National Income 1.54- i.,_;: (D) Theory of Production Vealth ...mg,rJL..;,./FJ
{3} When Marginal Utility i= negative, Tatal Utility will:- -i’m.hf,_fi»ﬁ_ﬁ;hlr”.fa {3)
(&) Decrease r" (B) Increase siJ {C) Negative ;f' (D) Zero *
{4) Second name of the Law of Equal Marginal Utility Is:- -~ (ke :E'F;'.'i:ﬁi:,,‘:t-fufﬁ' (4)
(A) Law of Diminishing Marginal Utility r“"mll_,_w Fly (B) Law of Indifference Curve é:fjﬁg:}i
(C) Law of Substitution ™19 @ (D) Lawof Cemand Ay #F
(3) ___ alphabst devoles Imports. AN (B)X ()Y (D)C _._J;'.r O (%)
(8} If Tolal Expendilure rises as a result of fall in price, *L,ﬁ._g.!._pu* *;bmh&fu{;r_“[{;ﬂn’/‘ﬁ (8]
the elasticity of demand will be:- A} E=0 {B) E= (C) E=<1 (D) E=1
(7) I demand decreases as 2 result of decrease in population, then it is called:- - vz .;u'.,ra_,(p'f{j}ﬂ(_,{,-':u__.kﬁ (7)
{4) Rise in demand b=3§_L {B) Fall in demand £ (A
(C) Extension in demand thgk_b (D) Gontraction in demand t5¥_&
(8) Normally Slope of Supply Curve is:- —g—brt E’f!-’m et (8)
(&) Negative LF" (B} Positive =% (C) Vertical \far® (D) Horizontal 4_,*"'
{3) Functional Equation cf Supply is:- - il ;ﬁdjv;n (9)
(A)Q+ 3P =28 B) Q+3=-3P C)Q-2FP=8 (0)Q+P=20
{10} IFdemand and supply falls equally, then equilibrivm price:- = ._.JL_,;umdLluub. :_.”-‘_‘-'P (10}
{A) Increases ?S’x (B) Remains the same {_.;_3";.,}: {C) Decreases r;-_;: |* (D Much mc*easa& r_{}’]{nJL:
{11) factor of production is Geographically immobile, ﬁ_,f‘fff,a._J}{»l’Jui #? — i11)
{A) Land ca2 (B) Labour = (C) Capital _L- {0y Drgamza‘tmn (ﬂ'
(12) If son of a Labourer becomes a Police Officer, than this mobility dh.dtb'r:}fm....fﬂ,r_.ﬁia_.:-L,ff""llfl.;b'i':fﬂ/ (12)
of labouris called:- (A) Horizortal '?" (B) Vertical ({1 (C) Social $/= (D) Geographical ui’ | A2
{13) Adwvantage of small scale pmductmn is:- (A) Lack of Capial .JT_{.L e e K ':'Iﬁ; 5,.1_1-{ (13)
(B) Lack of Reserach u‘..'lu- (C) Over production (Litstae a1 (D) Personal interest u;é,-:%rj
{14) Second name of the Law of Constant Return is:- -;ft*mﬁ’ﬁﬂufuiﬁ i14)
{A) Law of Increasing Relurn e w,:‘;_»,u‘u {B) Law of Increasing Cost _J.rw/:{,'fb
{C) Law of Constant Cost ._LLA‘.:EL-f e Al (O} Law of Decreasing Cost uxblf::ﬁu:‘h
{15) Curve of Total Cost 's:- . _,-.;..mmf._.ul.ﬂ,:_wf 115)
(&) Vertical af (B) Horizontal (§t (C) Negative sloped 82 (D) Positive sloped T
{16) Number of buyers in Perfect Compelilion is:- =-E Jrotdfuu it (16)
(A) One LI (B) Two s (C) Afew = (D) Large number JL»-"",«:-"/
(17) Marginal Revenue Curve under Perfect Competition is:- _,;_s‘aﬂug.,muﬁ?"'s?,ﬁ;.émﬁ (17)
(A) Horizontal (B) Vertical ¥ (C) Negative sloped g,faJ-vi,-_f’" (D) Positive sloped llke iz
{18} Essentials of Market does nol include. - -._,HJLH St e {18)
(A) Goocs L (B) Weather 3 {C) Buyers /&7 (D) Sellers e/}
(18) Reward of Capital is:- .-5-_,.2-5'1:-(2’__.&,- 18)
{A) Rent & (B) Interast - {C) Wage =.7! (D) Profitlloss /<3
(20) Kinds of Interes: are: -LE Vil (20)
(A) Two o (B) Three of (C) Four . (D) Five &L
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&
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Ao of fﬁﬂfhﬂlﬁf&ivlﬂwﬂa—gﬁ Jﬁhéé-;é:brﬁdlfj{d fi.if-?: -La.’,"é{-) D i C B A '-'-'LJ-"-‘-'E"L"J:J"’J o
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Note: You have four choices for each objective type question as A, B, Cand D. -L{.EJ"):‘;..-.«IJIJ-*{.;.;,J!:*
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
te fill the circles. Cutting or filling two or more circles will result In zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No cradit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of CBJECTIVE PAPER. !
Q.No.1 ‘ A A
(1) Number of buyers in Perfect Competition is:- --;-dﬁ}b?‘-d‘urﬂe:fuﬁéﬁ'u‘j o [
(A) One i (B) Two (ClAfew & {D) Large E'Lll"ﬂh-EF Jfa;’ff
(2) Marginal Revenue Curve under Perfect Competiton (3:- q{;,%.;,r.;.u;su’dﬁf”’*i’rjuﬂﬁ»d’ i2)
{A) Horizontal .-__"u'ir (B) Vertical (& (C) Negative sloped ¢IL|-P5L§) (D) Positive sioped plieizs®
{3) Essentials of Market does not include:- -;_;‘ffuhlf'-‘-..'-"a:wkilr'!-é.l'f (3)
{(A) Goods {B) Weather ~» (C) Buysrs sy (D) Sellers P
(4) Reward of Capital is:- -f_,,..z'ubﬂférl. o {4}
(A) Rent w (B) Inteest s (C) Wage 2! (D) Profitiloss L
(5) Kinds of Interest are: . R
(A) Two » (B) Three & (C) Four . (D)Five &
(B) The founder of Classical School of Thought was:- .rl.?i.i-l;h-’f"i;.;':f-" 14 (5]
(A) Marshal JFA (B) Adam Smith #74! (C) Rokbins 3. (D) Keynes 7
{7) The topic of Macro Ecoromics is- (A} Consumers behaviour —ile.s _ﬁ'.hﬁ,-.-‘i'r'..{ili'::fbﬂ&i (7)
(B) Price theory =i, &  (C) Natonal Income S.047 (D) Theory of Production Wealth &/ . &
(8) When Marginal Utility is negative, Total Utility will:- jmsliljiﬁﬁﬁf[’?__.—a 8}
(A) Decrease (- (B) Increase s} (C) Negative (& (D) Zero
(9) Second name of the Law of Equal Marginal Utility is:- _q..*t}fs:?ﬁﬁﬁ]rﬁﬂb‘dm (%)
(A) Law of Diminishing Marginal Utiity #%:6.k%5 () Law of Indifference Curve {7#ksy)#s
(C) Law of Substituion e/ (O} Law of Demand )56
(10) ___ alphabetdevotes Imperts.  (A) M (B) X (C) ¥ (D) C _cg.wf#f:-uﬁu.iz" — 19
(11) If Total Expenditurs risss as a result of fall n price, S e i inf2d ()
the elasticity of demand will ba:- Ay E=C {B) E=1 {C) E<1 DV E>1
{12} If demand decreases as a result of decrease in population, then it is called:- _.f_fﬁm:;erug:f:&ﬁdiﬂfuﬁ {12)
(A) Rise in demand {=7¥_4 (8) Fall in cemand l:/"E’-..,J-'-'
(C) Extension in demand b (D) Cantraction in demand ¢S4
{13) Normally Slope of Supply Curve 1s:- --;L'-"Hﬂfv?bf#-fi&i!f (13)
(A) Negative & (B} Positive =t (C) Vertical $r# (D) Horizontal
(14) Functional Equation of Supply is:- ce il (14)
(A)Q+ 3P=25 (B) Q+3=-3P (C) Q-2P=8 (Dj@~P=20
(15) If demand and supply falls equally, then equilibrium price:- et fasa bl (15)
(A) Increases < (% (B) Remains the same < (U3 (C) Decreases .;I:_;Erfrr (D) Much increases & xo:tJ
{18) factor of production is Geographically immobile. -l,,ﬂ}.i‘.,;f;{;ﬁé,iy‘-z.,m Je e ETE)
(A) Land =i (B] Labour =¥ (C) Capital ks (D) Organization |
(17) If son of a Labourer becomes & Police Officer, ther this mooility 'rl'_:; LL.*T,E;J;JFL{@“’;LL?@/*QTLA#'%f—w” {17)
| of labour is called:-  (A) Horizontal ;_?j- (B} Vertical ifnf (C) Social J}w {D) Geographical ,j,l._.'lﬂ‘
(18} Advantage of small scale production is:- (A) Lack of Capial jﬁ;L o “.:;.E.J-‘L:E’J’ﬁ;“.;;gj_:f (18)
(B} Lack of Reserach Lir[j’;':"": (C) Over production (falate 41 (D) Persanal interest Iu‘?éJL-!IJi
{(18) Second name of the Law of Constant Return is:- -,=|‘?Lf»|=~/uvﬁr'.5bfcﬂi (13)
(A} Law of Increasing Retumn b 2wt (B] Law of Increasing Cost wblesd%st
(C) Law of Constant Cest wiste Lty /F (D) Law of Decreasing Cost e K
(20) Curve of Total Cost is:- _ et (20)
{A] Vertica: (B) Horizontal .;;dl {C) Negative sloped :fa’f {0)) Positive sloped ikl
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Note: You have four cholces for each objective type questionas A B, Cand D, -.._{LJJ::._-HF;-'{,;.,;..JIF
The choice which you think Is correct, fill that circle in front of that question number. Use marker or pen
te fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 . A Aw

(1) . factor of preduction is Geographically immobile. in‘i;a“-}{f’bai;wvﬂﬁhm —_— (1)
(&) Land onJ (B) Labour == {C} Capital _,i.fr (D) Organization

(2} If son of a Labourer becomas a Police Officer, then this mohility *lU/-fx...Hfu..J:’r_.lm;’ '.fJ{-’F:'J’.f" {2)

of labour is called:-  (A) Horizontal .;f" {E) Vertical (51 {L]- bcuzlar q,;'lau (D) Geographical dﬂ-”f“’

{3} Advanlage of simall scale production is:- (&) Luck of Capial JJ;'. ¥ ik JFIU'Tﬁ-'L:.L-J'S (3}
{B) Lack of Reserach ._;"._;-f;;“.-‘? (C) Over production Jublg L1} (D) Personal interest .,1;"} L

{4} Second name of tre Law of Constant Retum is:- ~thl kL Pedibie (4
(A) Law of Increasing Return b2 76 (B) Law of Increasing Cost .t s
(G) Law of Constant Cost s JLE st (D) Law of Decreasing Cost b loudi

(8) Curve of Total Cost is- -thhff....inﬂ.wuﬁ {5)
(A) Vertical Sof (B) Harizontal L:‘;I ({C) Negative sloped ¥ I.?J" (D) Positive sloped JEZ-’.....—"

{6) Number of buyers in Perfect Competition is:- R uml.».a-fJuuuf,_,«JhmP 18}
(A) One i {E) Two » (C) A few &2 (D} Large number ;L&

(7} Marginal Revenue Cl._:r'-re under Perfect Competition js:- ,..1-_L-r I mrfl.i_-"’s[‘": s‘,-},.u:,.k w" {7
(A) Horizantal (3 (B) Vertical Un (C) Negative sloped et (D) Positive sloped wileied

{8) Esserliais of Market does not include:- _h.':’}u}'l.r._,-._ﬂl..r-';".:..fﬁy (8)
(A) Goods L~ {B) Weather =+ (C) Buyers .,7 (D) Sellers F=ds/

(9) Reward of Capital is:- et ¥l ()
{A) Rent & {B) Interest {C) Wage =71 (D) Profitloss il d

(10} Kinds of Interest are: -Lf|*hild;r (10)
{A) Two » (B) Three £ (C) Four 4 (D) Five )

{11) The founder of Classical School of Thought was:- 34.: {,ﬁ___j’uirg (11}
() Marshal (¥ (B) Adam Smith 7. (C) Robbins i, (D) Kaynes #

(12} The 1opic of Macro Economics is--  (A) Consumars henaviour il --i-w*“*‘-éJELrL'LVL—F (12)
(B} Prica theory ..-.‘f,:_ﬁ? {C) National Income ._,,J.I ] (D} Theory of Production Wealth ....:m_ﬂg,, ,h'

{13) When Marginal Utility is negative, Total Utility will-- LY ulf:f:fd‘”nblr‘f.,z {13)
{A) Decrease ¢ (B) Increase wlJ {C) Neaative J" (D) Zaro A

(14) Second nama of the Law of Equal Marginal Utility is:- g rt[,,-r,ut"?q‘};.!ﬁl;:':b'df'? (14)
{4 Law of Diminishing Marginal Utility r"’;:bu"’u;b (B} Law of Indifference Curve {j}.widgfi
{C) Law of Substitution Ja®1y58 (D) Law of Demand Ly s

(18) ___ alphaketdevotes Imporis.  (AJ M (B) X (C) Y (D) C d.a_uf.;f_ fuTnad? (15)

{16) If Total Expenditure rises as a result of fall in price, _._,m_L J._J:hlrm qu,’uﬁéd | -.-A’f‘i (16)

the elasticity of demand will be:- {8y E=D (B) E=1 (C} E<1 (0D E>1

(17) If demand decreases as a result of decrease in population, then it is called:- #;Jr.__mk{.f L:fJLlu‘._,E:_,—"f {17}
(A) Rise in demand b Zd % (B) Fall in demand £k
(C) Extension in demand kg% (D) Contraclicn in demand ;,‘J:"e’.,.ib

{18) Mormaiiy Slope of Supply Curve is:- -;.r:.:uﬁ‘ﬂmvf {18)
(A) Negative J”' (B) Positive <= (C) Vertical ls" (D) Horizontal J’ !

(19} Functional Equation of Supply is:- -—n-'!'-*‘d'l*' ew (18)
(A)Q+ 3P =28 (B) Q+3=-3P () 0-2P=8 (DIC +F=20

(20) If demand and supply falls equally, then equilioriun price:— cad g UL bl (20)

{A) Increases — 7% (B) Remains the same r_.u'fg v {C) Decreases ;.-_-!-:rrr {D} Much increases q.J’;‘;uI;}

37(0b]) (T I)-2017(A)-18000 (MULTAN)
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Note: You have four choices for each objective type question as A, B, C and D. -L.{LJ“'&UHF;‘{,@{.JLV

The choice which you think Is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles, Cutting or filling two or more circles will result in zero mark In that question. Attempt as
many questions as given in objective type question paper and leave others blank., No credit will be awarded
in case BUBBLES are not filled. Do not solve guestion on this sheet of OBJECTIVE PAPER,

Q.No.1 A AU
(1) If Total Expenditure rises as a result of fall in prics, _Jiuf._:f'__,lb}’g?ﬁuy&.ihﬁ.'gﬁf;ﬂfﬁ (1)
the elasticily of demand will be - (Al E=D (Bl E=1 {C) E<1 (D) E>1

(2) If demand decreases as a result of decrease in pupulation than it is called:- _gﬁ}naqvufﬁiﬁagffd?ﬁﬁ {2)
(A} Rise in demand t=7¥_ b (B) Fallin demand t/¥_%
(C) Extensicn in demanc Lgk_ ¥ (D} Contraction in demand tif'bi,ﬂ'&

(3) Normally Slope of Lupply Curve .- - S T Kus ot (3]
(A) Negative ¢ (B) Positive =5 (C) Vertical i (D} Horizontal (&

{4) Functioral Equation of Supply is:- q,Lal!Lr-'u"'l'ﬂ'f.';ﬂ (4]
(A0 + 3P =26 (By Q+3=-3P {C) @Q-2P=8 (D)Q+P=20

(5) Il demand and supply falls equally, then equilibrium price:- e d TS A b (5

(A) Increases < (% (B) Remains the same = (% (C) Decreases .;_J_r:;f (D) Much increases « ("l

(B) factor of production is Geographically immabile. -1,,:‘:}.4- ._rfui’dn.; ﬁﬁ,y,g, e (6]
(A) Land X (B} Labour = {C) Capital o {D) Organization ria’

(7) It son of a Labourer becomes a Palice Dﬂ‘u:er than this mohility L llkfjgl?..-.f:?ui:-‘fﬁi_l.;uz ,«:."T._;Q;Lg Ko (73

of labour is called:- (A} Horizontal (3 (B) Vertical da (C) Social 3~ (D) Geographical Jyi &

18} Advantage of small scale production is:- {A) Lack of Capial l_ﬂ;'.; ~end E{L?j'.i.-,.:'s..li,.:{ (B)
(B) Lack of Reserach (U % {C) Over production S 1.4 (D) Personal interest (oo b

{9) Second name of the Law of Constant Retum - etk MedlEuis (@)
{A) Law of Increasing Return | w/:ﬁi. IfF {B} Law of Increasing Cost JJLA*/;""&J,{E
iC) Law of Constant Cos! . L&*Jrﬁg s |0} Law of Decreasing Cost ....‘;L,vu':ﬁl-,lil?

(10) Curve of Tatal Costis - g O _.;rnb'i"..i,«w;rf (10)
&) Vertical (a0 {B) Horizantal (& iC) Negative sloped ?Kﬁf.ﬁ (D) Positive sluped bR g

(11) Number of buyers in Perfect Competition is:- -..._duf- L.:.,_,LJ;AJ..?L,J:J&; g (11)
(A) One [ (B) Two C) Afaw & (D) Large number sl 2

{12) Marginal Revenue Curve under Perfect Competition is:- _.;&iuL?-JLﬂfdfs?wﬁ'ﬁﬁufému"; i12)
(A) Horizontal (¥ (B) Vertical (C) Negative sloped ;;:J.wh_f" (D) Positive sloped @il f=2

(13) Essentials of Market does not include:- ESE R S e {13)
(A) Goods L4 (B) Weather ~» (C) Buyers s 7 (D) Sellers &=}

(14} Reward of Capital is:- i iy (14)
(A) Rent 8 (3) Interast 1 (C) Wage =2 D) Profitioss uh‘ff&r

(15) Kinds of Interest are: iy (15)
{A) Two » (B) Three ._I {C) Four Ak ([¥) Five é,l;_

(16) The founder of Classical School of Thought was:- —féfiﬁéﬁiﬂ (16)
(A) Marshal FL (B) Adam Smith 74! (C) Robbins . (D) Keynas =~

{17} The topiz of Macro Economics is:- (A) Consumers behau our ulen s ..;.;_,. -‘**_i.'E'..-L-r'Ir-;_F (17}
(B) Price thecry n—l-"’.-rf'b {C) National Income ._:u.,,l (D) Theory of Production Wealth _m,,;’l dﬁ'

(18} When Marginal Utility is negative, Total Utility will:- . sl F mﬁ;hlf‘;:: (18)
(A) Decrease ¢ (B) Increase asLJ (C) Negative (& (D) Zero p+

(19) Second name of the Law of Equal Marginal Utility i is:- d.;_f-:;ms’ﬁ"‘?i;@mf.-wg;s (18)
(A} Law of Diminishing Marginal Utility f"uulf e (B) Law of Indifference Curve .fj}r*,u.!.ﬁgjﬁi
(C) Law of Substitution M= 4§ (D) Law of Demand ¥4

(20) __ alphabel devotes Imports.  (A) M (B} X (C} Y (D) G e tlbentls o)

37(0b))(W I YO TE)-2017(4)-18000 (MULTAN)


http://www.result.pk

BOARD OF INTERMEDIATE AND SECONDARY EDUCATION,

MULTAN
OBJECTIVE KEY FOR INTER (PART-] /1) Examination, 2017.

Name of Subject M__ Session  2e/f-2o) 7

i (), | Paper | Paper | Paper Paper |
Nas | Code | Code {u;jq_ i Code

|z :;:__I_!} 251207
- || D A D
3, _'_C_ plc | B |
2 Al &l bilB
r|ciBicic
SlAalsle
f. __i D : E) _D ' B |
x| pleEAlC]
* B A|B|D
9, C | € B c |
b IB Al8 B
A plBIDE
EERNS NE-NP.,
1o ElAls]
[ c |l efc [ g
5 B Bl A|M
15 D__l A DB
1. 1 B [C
18. | B | D B | A
14, E ® C C
AN ININE
Key Bl /o 2 ﬂa.....-t.:-f’/
n,rL.-,u_._;Jr{zmmﬁf:J"’;saﬁlz st A ol BTy

el :.,.r-'ﬂ..gvuﬂ.q.gf L Set Ju»u.LJ'JZ-; g UI_GJ‘}I ( Suhaac:twlz & Objevtive)
(Syllabus) ¥ o Y- R N 4] Versiong < L-’):pu“ h’ersmng{.r"r Laissli 2 dred 7 ,._...f,‘hh
-r;--«du dﬂ}p e ‘-ﬁ'—u‘ft.% enft e Jeld F adgfend Key g r2-und 'L
_,T_J;-aﬁeyu'-‘ﬁ.-bry!uuf_ Wobssigp L M meumhiie e AT e L tkeyl (Al 7
I'MREPARED & CHECKED BY

Sr.No Name Designation  Instituticn Muobhile Na. Signalure,

eI WH9he _ MA P

2

FRYIAZ HAIIER FLsithard  fovto pifl s3ce—2TZEIE ,zg-'_ S
@— # ﬂf/fﬂf /’ "g 2 Pl Yo e 7



http://www.result.pk

Qido 3 )5t gudmbitli Sl (el ] § S0uild

-
:.Tjjf H 1.3,; U"JUJ .':_-_JJ"@‘ A’-—' J"J‘ﬂ}7 W
gﬁ‘uﬁﬁt)fﬁéﬂaﬁmKey_ﬁ’.fi.rf_b::,y,td;z

-nl * : ij,. ‘./:
201796 & 10020055

—

Sr #|Code |Error Indicated |Sr# |Code Error Indicated
L UN Un-Necessary 8. Sp Spelling Error

2. Ir Irrelevant 9. P Punctuation

3. IN Incomplete 10. Wo Wrong word error
4. |[EX Extra 111, [wit Wrong Tense

5. |Rp |Re-Produced 12. |Wf  [Wrong Form

6. Is Insufficient 13. 0A Over Attempt

7. |Gr  |Grammar Error

,L,,:’@;ﬂ.mf u-u“’&_ﬁ/-’ﬁ/c_. ‘Full Award" Uy ':uﬁﬁl

Of’ffg_,)f/.d-‘;}z & Cors’ f——*ﬂffﬂc(/ﬁfﬂ‘ J= @
C—*’H}l—‘ Jfﬁpf»/c,é)a‘-‘u,f/c_.ﬂ,rg (.-ﬂ“w”

-&#ﬂl"{r: Zea s / |
J}/@(&-f‘_n_.»ﬁwﬂ b U "-’“-—"'/C/d/’ﬁ'/" I &

O“’("f-'—"/"
mwa;;fy/;,w/(f/a;aw.cu& 449 (3)
/J%wur((r/fmﬂﬁb ’/"’7‘—*’6”‘@/
BFQMCVJ;!AJ} //JL,J/,I. ,uf/)éfoﬂf,z//(/)f’@
G”‘f"&——’ gﬁ,ﬂ%&égﬁu&ﬂ
,;;a;;ff,(/z—f_ﬂ/éruutﬂ/ﬂOJ& £4J) O
/5LJL:},;J(’/J,>/5LJ@.9
/3 m,/:,.f; /.J-L u//(fumz(r"»«yf J/‘difo
2C Loy 3 i
’“% O—”‘-”U;éégﬂi ,;/::/LJJCFJ/;O:,M%J@ |

};r”f;’vﬁ ‘3’“’{'7"‘!‘( J# w“mx,_yﬂf’ d‘/‘w«*"o"z"@’
25

_ 7337886



http://www.result.pk

	0181.pdf (p.1)
	0182.pdf (p.2)
	0183.pdf (p.3)
	0185.pdf (p.4)
	0187.pdf (p.5)
	0189.pdf (p.6)
	0191.pdf (p.7)
	0192.pdf (p.8)

